N _ A

Eres

HRT AN / Government of India
AT FaT / Department of Space
fawa arens siafter $7 / VIKRAM SARABHAI SPACE CENTRE
faRaadqT# / Thiruvananthapuram - 695 022

EIRIAA-T (1. . 305) a:qumaqﬁﬁ?rq-&m
WRITTEN TEST FOR SELECTION TO THE POST OF FIREMAN-A (ADVT. NO. 305)

9g H.1404 / Post No 1404
fat&/Date: 26.05.2019
Farfers 3fe/Maximum Marks @ 320 TFEA/Time. 2 5/ 2 hours
37%areft @1 AA/Name of the candidate - aﬂam'm @/Roll no.

313912t & forw srseer /Instructions to the Candidates

1. mm%mﬁmﬁ%mwﬁﬂ-wwaﬁmwm%qﬁwaﬂﬁmmﬁa
o I & aﬁmwﬁwqﬁﬁaﬁ%mﬁwﬁaﬂwmaﬁwaﬁwﬁ%ﬁ
TBT HEATIAT 3 Y ATt

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. 9%, 80 9T A Jod WeA-IRAF F TT A Y 3R adiew ) s9fy 02 gc & |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. Wﬁmmﬁﬁ%mﬁqgammﬁﬁ%wmm@wmi

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9AH® U FAT 04 3 gl 3R vdw Toia Icak HTAT UF 31F Fer Srwen |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. SIRET F 3ee &1 & TANT 31T INUANR SecR-qReeehr &r sraafy|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 39S, See-JRAH & BT 7T 31e1eelt & 31, AT/ TR & STeT TS 9T ¥ NTANR Iek-
qEeRT & T 3ifae 1 3ifhaT s TET 3eaT T T FET B |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet,

7. UH YA & ToIT 3eieh 3ca? Terd AT ST
Multiple answers for a question will be regarded as wrong answer.
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10.

1.

12.

13.

14.

15,

S &I It 3 FfR FoaT- Rt H13 HTANR Iea Tfeaer 0 Bfise e ux gt i)

- Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space

provided.

FRE-GIEART 3 TG ATH AT HThATH TET T |

Enter your Name and Roll Number correctly in the question booklet.

mmm-mﬁaﬁﬁwmmmtﬁamﬂaﬁﬁaﬁmml

All entries in the OMR answer sheet should be with blue/black ball point pen only.

qﬁaﬂﬁﬂﬁﬁﬂ%aﬁrwﬁaﬁﬁﬁmgﬁmfﬁaﬁmwmﬁmmﬁm

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

TS ST TeTHae 2l & 3eX ey, e, FATEE B T 3 saweE T, T
QECTh, A1E 3111 Aot Y HAATY LT & sty

Computers, calculators, mobile phones and other electronic . gadgets, text books, notes etc., will not be
allowed inside the written test hall.

qﬁaﬂw_ﬁ#w,3#¢mn¢m¢-g%mﬁm$mﬁmr#msﬁra§rmammm¢-gﬁ%w
forlares = aiY arom qwdy wfer srad ure @

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

SrRe- Gt 3327t 319 ure @ T

The question booklet can be retained by the candidate.

T &5 eI G 5 2T Tt o T ger ey o e e E

Candidates are not permitted to leave the examination hall during the first hour of the examination,
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BRI — U (9 §. 1404) / FIREMAN - A ( POST NO., 1404 )

THTFIOT ool carT Tl Uz fr w3fas sot & s &
Potential Energy of a body is given by the equation '
(@ 2mv’ (b) Y% mv? (¢) mgh (d) mv?

Ueh B $o1e 3i3eraat & forw 25 T o, gy feud Ready wme o2 60 e, oy wer 6 siraa
EUE IR 1 G I H TE HTIT oY TATeT 9T Gl |

A fire engine is proceeding on a fire call to a location 25 km away at an average speed of 60
KMPH. It will reach the fire spot in

(a) 1 ®eT/hour (b) AT 45 iﬁo_-fE/Approx 45 minutes

(¢) 25 TP/ minutes (d) 10 fA=Te/minutes

fArfafla drog A= & — Ty AfFIAT 3 1 GRT Far ¥
of the following pH values indicate the strongest acid.

(a) 2 (b) 4 (c) 6 (d 8

HRATT AT 3ANGT SRIGH FT ., A = =

The name given to the Indian Human Space programme is

(a) 3AThIRMATA/Akashayaan _ (b)  IMITAATA/Gaganyaan

(c) W/Mangalyaan (d) dzg o1/Chandrayaan

TG TEUT AT EIAT S ST/ A lunar eclipse takes place when

(a) TSHT 'v\':j:éf AT 9T & &1 I §/Moon is between sun and earth
(b) FI TGAT FUT qeY & 1< 8T §/Sun is between moon and earth
() YT gF FUT IEHAT & =T gYaT ¥/Earth is between sun and moon
(d) gFHT G TUT TEAT & 19 81T &/Comet is between earth and moon

............................. U fader 3 81/ 1S a poisonous gas .

(a) 3T3TA/Argon (b)  EfTd/Helium

(c) TeT 313 HTFATSS/Carbon dioxide (d)  IeeT AATFATSS/Carbon monoxide
BT AT HHETTAT oo, & ¥ H T JEar g

The value of ‘n’ is generally taken as .

(a) 7/22 (b) 14/22 (c) 22/14 d 22/7
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10.

11.

12.

jleit

14.

forall BX FT TROT Uahd BT FUTASH UTaT FAFAT oo 3

The normal single phase KSEB power connection to a house is

(a) 230V (b) 440V @) 11KV (d 110KV

(@-D)2 BT oo g 7 faraRa & a1 gear g1
(a—b)2 can be expanded as ]
(a) a’—2ab+ b’ (b) a’+2ab-b° (¢) 2a-2b (d a’-b’

ST ol eiep ur AT & 3MUR STd JU1 F91$ A gl € d9 39 4% H1 A

FAfeiET & AT &1 gldr 2

The volume of a cone is that of a cylinder when their base diameter and height are
equal.

(a) 4/3 (b) 173 (c) 3/4 (d 122

srae fams sarar & fF SR Rl 3 @ g9 Sear ¥ 3EeT gedr
gl

“Boyles law” states that as pressure of a gas increases, its decreases.

(a) 3IdA/Volume (b)  dTM9HTA/Temperature

(¢) "elcd/Density (d) HIY/Weight

FeATEdT ¥R a8 B oA
An exothermic reaction is one in which

(a) dT9 T QAT 81T 8/Heat is released  (b) 319 T TAATIA 81T £/Gas is released
(c) T T 3A2NYUT §1dT &/Heat is absorbed (d)  3TIAT d¢ SATAT 8/Volume is increased

q O fardll ot & 3ader 1 ARl fRAT ST FehaT
The volume of a sphere can be calculated by the formula _ :
(@ 4mnr’ (b) 4/3nr’ (¢) 2mrh d 13=nr?

&aT &r 3T & AT %—corueicrd IHIOT §
is an instrument used to measure wind speed.

(a) . U HAIAHTEY/ Anemometer (b)  BISIAHICY/ Hygrometer
(c) SHEY/Barometer (d)  3MHAARCYOhmmeter

4 1404



185.

16.

17.

18.

18.

20.

21.

Tdeg 34| 7 @ THh Saolariier 39 8|

Of the gases listed, 1s a flammable gas.

(a) I 318 3TFOTSS/Carbon dioxide (b)  #FIA/Methane

(¢) 3TETe/Argon (d)  AECISd/Nitrogen

g # 90 ST 3Fd gl

The acid found in lemon_is

(a) WIfAF 31FT/Formic acid (b)  TICTRE 31Fof/Tartaric acid
(c) UWHITH 377/ Acetic acid (d) 3 fe&eh 37Fc1/Citric acid

I 1600 e 18 ¥ 5 P T I3UAT &THAT F 80% Tk HY ¥ o IET et
AMET H oo, gl '

If a water tank containing 1600 L of water is 80% full, the capacity of the tank in litres is

(a) 1060 | (b) 1860 (c) 2000 d) 2600

% 120 W FHTAT & JTaarer fFd SAGRY &7 F. 20 & o Heldl &1 35 o F1 %

....................... gl

A trader selling pens at Rs. 120 makes a profit of Rs. 20. The % of his profit is

(a) 16 % (b) 20% ) 22% (d 25%
forely gea &1 o 3EH B H T B

Diameter of a circle is times its radius.

(a) Ya (b) 2 () 2 d) 3
5.22 x 10%=

(a) 52200 (b) 5.220000 (c) 5220000 (d) 5.2200
AT 1,4,9,16,25 7 HTA FEIT .ooovvcn, gl

The next number in the series 1,4,9,16,25 is

(a) 36 (b) 45 (¢) 56 (d) 65
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22,

Z23.

24.

25,

26.

27.

A, B, AB and O are types of groups.
(a) 3TeTdiRIH/Genetic (b)  HATI-AEF/Anthropology
(c) 37LMEI/Economics (d) TFd/Blood
SH T T T o 3Tad arof #T dcg 8 B
in the list is not an element in the periodic table.
(a) dTET/Copper (b)  FelXA/Chlorine
(¢) TRIA/Charcoal (d)  HTd=/Carbon
HTANHAT HIOFRT 7 39ar Tl arefiaedl &t W & Qv gl & ToIT e
e
The fire officer ordered all his firemento  for parade.
(a) ¥33A/Stand in (b)  ¥Z 39/Stand up
(c) Wi 3T3¢/Fall out (d)  id 3a/Fall in
& IOFET § ERTI
Diamond is an allotropic form of
(a) fAfAHI/Silicon (b)  HTA/Glass
(¢c) THREH/Quartz (d)  FTeeT/Carbon
& HYA FT ioAe § dHicad |
Kelvin is a unit for measuring
(a) dIYHTT/Temperature (b)  cTd/Pressure
(c) H@%’/Frequency (d)  ATTHA/Conductivity
£3 € SR earr fordll god &1 gRTE A Sl B
Circumference of a circle is given by the formula
() mr b)) 2nr (¢c) =th (d 2xnr
6 1404



28.

28.

30.

31,

32

@ g # 3uEeT fFT SRarel TTdal e FT ALET
LPG used in cooking gas is the short form for i
(a) fafeas dgrer A/Liquid Petrol Gas

(b) TfFawes dgiel FF/Liquefied Petrol Gas

(¢) Tafeas aaiferad A9/Liquid Petroleum Gas

(d) faFawss deifera# a/Liquefied Petroleum Gas

gfe fRET Fgd & PR 1 WAL § A TR Fel TAG & oo gl
[f the edge of a cube is 1 cm then its total surface area is

(2) 1em’ (b) 4cm’

(c) 6cm’ ‘ (d) 318 I Ueh T Agl/none of these

ared e garar § & 39 9 & ve g 3maad @ @NfEd R Srar € ar 3|
JT9ATT

Charles’s law states that when a unit volume of gas is compressed, its temperature will

(a) TR TIM/Remain constant

(b) T/ Decrease

(c) q‘\?ﬁT:lD?:ﬂ?f el fepaT ST HehdT/Cannot predict
(d) 3T/ Increase

If> BrelY BT F 2 FOT F T TAF 450 FE A TE TF BT ¥

If two of the angles of a triangle are 45° each, it is a triangle.

(a) HHTE/Equilateral (b) aﬂaﬁa@ﬂsosceles
(c) 3IT&eh/Obtuse (d)  HHPIUI/Right angle

tirmgﬁ"\rﬁmmaaqw%wﬁ

Food is cooked faster in a pressure cooker because

(a) 3=Tdcd & FROT TFAaT TIHTT H 9Tt 30l o3TdT & / water starts boiling at a lower
temperature due to high pressure

(b) 3TH TG F FROT ITAAR ATIHA H 9Tl 3cle] 91T &
water starts boiling at a higher temperature due to high pressure

(c) T 3 T AT ATIe Iell & :
conductive heating takes place inside the cooker

(d) T F 3T TTeT URTT T ST &

convection currents are sct inside the cooker

7 1404



33

34.

35.

36.

37.

%ﬁiﬁﬂiﬁéﬁmﬁrgﬁdﬁ%%t@@g%ﬁaﬁ%ﬁwmmm

The doors of a refrigerator are left open for a few hours, the room temperature will

(2) ©&dM/decrease (b)  ¢dM/increase
(c) 3gRafda wgan €/remain the same (d)  HET AGT ST TehT /cannot say

forelt foremrer 78 &7 i@ X v e wWer ¥ IR aE RrAR & 3R "o ¥ ar A

A man 1s standing on a boat in still water. If he steps on to the shore, the boat will

(a) AR P 3 TAT/move towards the shore

(b) fFRa I T/ move away from the shore
(¢) 3TIdl Wall/remain stationary
(d) ZWMWsink

o ¥ gFT R AR H ah Uk ST SoaA ¥ 59 9 QU ehs Rge S
ST & T 9ol & A e

A piece of ice is floating in a beaker containing water. When whole of the ice melts the level of
water will

(a) FEIMM/increase

(b) ©CIM/decrease

(c) Ugel 9¢31 3R TR TaM/first rise and then fall
(d) 3IRAfIT WaM/remain the same

WE’I%E’IEHWH_&W10#IT ¢ 3N 3@ 9fF ¥ agFEsa F o @ s ¥

ﬁﬁmmﬁmﬁmm% BRI BN oo

A hydrogen balloon of 1.0 M diameter is released into the atmosphere from the ground . As the
balloon rises up in the atmosphere its size will

(a) ©<IM/decrease

(b) TSTH SO MR A TUCT &Y AT/ Alatten into a disc-like shape
(c) w&dM/increase

(d) 39REfIT WM/ remain same

3 1 AT H WY aRadaT & o $Ed B

The conversion of solid to gas directly is called

(a) dr™Yel/Evaporation (b) FEAUTTA/Sublimation
(¢) . 3THasT/Distillation (d) Fafed/Saturation

8 ' 1404



38,

40.

41.

42.

43.

44,

................................... UF EEfae gRad=a g1/ is a chemical change.

(a) SIS AT STeld1/Burning of paper (b) STeT ol HTHEA/Distillation of water

(c) HHFF Tger=T/Melting of wax (d) 9Tl # FHF FT TeF/Dissolution of salt in water

BAN A H TSET TITARTA TG oo gl
The National emergency number in our country is :
(a) 911 (b) 101 (c) 100 d 112

......................... TH a1 ¢, Sl AT J9AE R 39 &7 & &

is a metal which is a liquid at room temperature.

(a) T3®/Zinc (b) dTET/Copper (c)  SH/Bromine (d) YRI/Mercury
3ad IR F B F gdE _ %l

The symbol for gold in the periodic table is

(a) Au (b) Cu () Gu (d) Mu

i St & e s &7 aiafda swar &

transforms mechanical energy into electrical energy.

(a) HIEI/Motor (b)  SAF/Dynamo

(c) JreaAFAeR/Galvanometer (d)  TIEWIAY/ Transformer

FUROTAAT W7 arex H gid & 7efe 39feya 3w gl

The gas usually present under pressure in soda water is :

(a) m/()xygen (b) AT/ Nitrogen

(¢) +IETH HTFASE/Nitrous oxide (d) e 378 3TFAEE/Carbon dioxide

%%mﬁmwﬁ%@ﬁ-m%mﬁwmm
gl

The acid used as electrolyte in lead acid storage cells is

(a) BRI W/phospiloric acid 1

(b) BTSIFAEH H¥Fel/hydrochloric acid
(c) =i MFSA/nitric acid
(d) FFYRF 31Fa/sulphuric acid

HFESA

1404



45.

46.

47.

48.

49.

50.

T urea fFar Srar g

Sodium Chloride also called table salt is obtained from sea water by the process of

(a) FUTa/Flocculation (by  TopEceled/Crystallization
(c) 3HI/Distillation . (d) TR UT/Decantation

e @1 |3 g 37ST SHET 9T

gas has the smell of rotten eggs

(a) gT83I5lel Gewigs/Hydrogen sulphide (b) A/ Ammonia

(¢) HYA/Methane (d) el AlATFESs/Carbon monoxide

£ 39Uy O 7199 &d F TT I gl

Human blood is red in colour due to the presence of

(a) gHICISC/Hematite (b)  FARITHe/Chlorophyll
(c) FTeERT=8H/Carborandum (d) SrAT A Te=/Haemoglobin
P ¥ 2 ¥ NIRRT FFET cafed 1 QU Setaren JeeETar gl

The first aid given to a victim suffering from a cardiac arrest 1s
(a) FIEa-geaA REf@e e/ Cardio Pulmonary Resuscitation
(b) UiESTATCETEET/ Angioplasty

(¢) | FITeaqTITH/Electro Cardiogram

(d) Segrded gaeelel/Intravenous injection

wF | A A aU UE T @ e § §EE 59 & 9fA 9 ST AT § A T
qgd ST/ /ST |
If an iron ball and a feather are dropped to the ground from the same height in vacuum then -

will reach the ground first.

(a) g 3G /Iron ball (b) U /Feather

(c) 2T UehaTe/Both simultaneously (d) el 6T ST WehdTl/Cannot say
arsusT &1 gfskar T FHROT gl gl

The process of evaporation causes :

(a) drY9ei/Heating (b)  dTSA/Cooling

(c) HEAA/Condensation (d)  TIEA/Perspiration

10 1404



2 1.

<2

53.

54.

35

56.

TGET TF oo, g1 /Dryiceis

A TR FIST A AT S AT § AT 3H G FT FdfeaHwr Al gl

If your dress is on fire, the best way to put it out is
(a) gaTyH E}ﬁlﬁ & ToIT 35T & SH19TAT/Run fast to blow it out

(b) TIT W ATPAAHE ST TAVT a1/ Use a fire extinguisher on yourself
(c) STHEA W el SAT=1/Roll on the ground

(d) HEE & Torw AfTarHT Aar i STefT=dl/Call fire service for help

S 9 SH SATAr § I 3T HIITT

When water freezes, its volume

(a) ©Tdr &/Decreases (b)  &&dT ¢/Increases
(c) 3aRafdd TEdT §/Remains same (d) - ﬂ?j)_q’T-T H T T 4T A€T/None of the above

(a) Tor=AT ToRdT ST it a®/Ice without any water
(b) #H® AT I%/Ice mixed with salt

(c) O Flele EiE) 3-ﬁ7=l"'8'13§/801id carbon dioxide
(d) o Hfeaad HrEfae/Solid calcium carbonate

ad gIgglste &l & T A ggad AT e g

Liquid Hydrogen is used as a

(a) %W%/Bleaching Agent (b)  AYH/Cleaning Agent
(c) faemaer/Solvent (d) e Ua/Rocket Fuel
YRT ohl ?{@FE €1 The unit of current is

(a) ﬁﬁ'?JT/Ampere — (b)  dIT/Watt

(c) dree/Volt (d)  FATHA/Coulomb

A F HFw Ferarer #r S g :

Ohm's law relates potential difference with

(a) UfFd/Power  (b) Foll/Energy (c) T HAI/Time (d) YRT/Current

11 1404



57.

58.

59.

60.

61.

62,

63.

FIGG &7 ﬁﬁs{tﬂg £1/Brass is an alloy of

(2) To¥eher 3 HITATA/Nickel and Chromium
(b) AT 3R *A/Gold and Tin

(c) drer AR G/ Copper and Zinc

(d) &r=T 3R arE/Gold and Copper

e Hier &1 TEEfas g3 J
The chemical formula for Caustic Soda is :
) NaCl (b) NaOH (¢) NaCO; (d) NaHCO;
ﬁ@ﬁaﬁmﬁwa:ﬁvww%@mmaﬁmm i
The fire extinguisher usually used to put out a petroleum fire is :
(a) IA EI39/Foam type (b)  Tee ST HTFATSS BT/ Carbon dioxide type
(c) dreX T3Y/Water type (d)  ZAH T U o T/ None of these
4QTIT 2Q & a1 YRl 1 A@al # A a0 ¢, | THPE wiaQe gl
Two resistors of 4 Q2 and 2Q are connected in series. The equivalent resistance is
(a) 2Q (b) 4Q (c) 6Q (d 8Q

U Hifas IRad= §1 is a physical change.
(a) 3HTEFEEIOT/Oxidation (b)  ITTIA/Reduction
(¢) TaISTA/Decomposition (d)  >EIUTd=/Sublimation
ST & IAHATT HETET gl

The present Chairman of ISRO is
(a) a7, & fRIa=/Dr K. Sivan -
(b) ST . TUEFSUTA/Dr K. Radhakrishnan

() B.& WH/DI“. K. Kasturirangan

(d) AT T.TH. 0T FAR/Shri A.S. Kiran Kumar

EAR ER 9RaR & §F & w&d ffdedd 78— ¥
The planet closest to the sun in our solar system is
(a) Cj‘_?fcﬁ/Earth (b) HITA/Mars (c) A8/ Uranus ~ (d) g4/Mercury

12 1404



64. T & AT U, et 3R arg snfaa §)

Fuel, oxygen and heat are required to make

(a) 3TRT/Fire | (b)  dF/lce

(c) @rsgaTd/Hydrogen (d)  9XHATT §H/Atom bomb
65. 53+ 2%=

(@ 7 (b)y 21

(c) 133 (d)  3ugerd H QU 3 TE/None of the above
66. HESA BlAT & SATH F1 quiwy gl

In mobile phones, GPS stands for

(a) TS 9UY TJFCH/General Purpose Spectrum

(b) TeIES difrfeier EeH/Global Positioning System
(c) Trarer Wit AfaT/Global Phone Service

(d) S\ ST Afad/General Position Service

67. oTeIEAEITAY ZaRT e Sarel T AN #
Leptospirosis is a disease spreadby
(a) ﬂ:%’/Rats (b)  HAGFEII/Flies
(c) HTBI ‘I/Mosquitoes (d) TfEAV/Birds

68. Rl a¥q & AT F Uberaler ot Fgd 2

Force opposing motion of an object is called

(a) STScd/Inertia (b) EYU/Friction (c) f&AT/Action (d) AR/ Weight

69. & &l IEA3N & T F HR d&aT § 30 AT H cdd doA

When the distance between two objects increases, the gravitational force between them

(a) 9&dT &/Increases (b)  ©TAT &/Decreases
(c) 3FIRafdd EAT #/Remains same (d) 3"'—1'43&'?{ H T 4T 7€1/None of the above

70. EAR AR 9ROR &1 Ga8 T3 T8 oo 2l

The biggests planet in our solar system is

(a) HITSA/Mars (b) gEe/Earth (¢)  UA/Saturn (d)  I&/Tupiter

A 13 1404



71

72.

73

74.

18,

vdifes AFET T ST 7Y gl

Acetic acid has the smell of

(a) gRgerd TATEY/Ripe tomato (b) fAET & del/Kerosene
(¢) TBIF/Vinegar (d) #i'&[\mFﬁ/Lelnon juice
SfReT |rer 1 qEETEE ATH gl

Chemical name for baking soda is
(a) @IfsTH FTaate/Sodium carbonate

(b) TETATE FTaae/Sodium bicarbonate
(¢) WA ATSEISE/Sodium nitrite

(d) Wf3TF ATZ¢T/Sodium nitrate

Teh GIYUROT 9IFF GG & R 1 gsfEdi & " ar gl
A normal adult human body has number of bones.
(a) 129 (b) 206 (c) 308 (d) 401

ST UFE ¥ ST SU9eT U Feare SR gEard & urEt a fAaer e sffeaR

Stainless steel vessels used for cooking are often provided with copper bottom because

(a) €T ST | ATFALATel &/Copper is stronger than steel

(b) TS I ATE HIAT 378 31T §/Copper is easier to clean.

(c) FHTSIT STATd | godl &/Copper is lighter than steel

(d) QTET JT9 T Sgal ATeleh &/Copper is a better conductor of heat

3000%@@&3{3{@5000%wsﬁaw#waﬁﬂmm%l‘mé:m
TEIAOT T TATTHTT oo 2|

One litre of water at 30°C is mixed with one litre of water at 50°C. The temperature of the mixed
water will be

(a) 20°C
(b) 80°C
(c) 30°C T 31f8rem, aifehat 50°C § &H/More than 30°C but less than S0HS
(d) 50°C & 31fereR, AT 80°C A &FA/More than 50°C but less than 80°C

14 ' 1404



78,

g

78.

79,

80.

In an atom, electrons bear a charge.

(a) YellcHh/Positive

(b) dc¥FI/Neutral

(c) FHUTcHh/Negative

(d) TRATUISN & IHTAR Feeldl &/ Varies with atoms

........................... Udh dcd & S o & T 3TshiEs AR &-ar g

is an element which reacts violently with water.

(2) TETHA/Sodium (b) [EFa/Nickel
(¢) ERTA/Boron (d)  FewY/Sulphur
FTYX & HIdg El'\Uﬁ' Exe &1ln a computer, CPU stands for ...................

(a) Heco IrATHT Ej'\ﬁl'c"/Central processing unit
(b) EFU&‘:C'T BT ?J‘ja!t'/ Computer printer unit
(c) EFUEI‘\ET qrax aj?rz/ Computer power unit

(d) 3'q?i—q'_cf H T U &1 F61/None of the above

FUN TIAST F oo T4 A G gliwreheh fafeon @ gedr & e
FCT &

in the upper atmosphere protects the earth from the harmful radiations of the
sun.
(a) %ﬂﬁW/Litﬁosphere (b)  3SAIA/Ozone
(c) E'E@?W/Hydrosphere (d) U‘Cﬁ%ﬁF/Epidermis
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If the length of 2 adjacent sides of a right angle triangle are 6 cm and 8 cm respectively, then the
length of its hypotenuse will be : x

(a) 2¥HT/em (b) 7HH /em (¢ 10&H/em (d) 143 /em
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